H
S

o(® ¢ (rad)
a(d cot(0))

ol s n 4 o 10:2F T u
= E 14 = E T If
[ T HERH R o 1.05 14 1) R S
T 1] LU ALLT (T LE :
o T I : 1 = S R B S AR O SERRRRREE CETTRLTTTTRS
1 - LT T SRR R LR F 4+
4 0.95E RN

=

o
iN

I

2 3
TP1F9T (PCA t%obeamlinélf)

—=— DQM_original_1000evt
—e— DQM_fitted4_1000evt

=~ =
£ £
o o
e e
~ —~
;‘ UN
S o
o 2
5] o]

1074

107 :
: *

B I 31031 S
o'lﬂk_,%_ " 1 |! oy abihold] " |||||||! IR ETIT ° L ul " bl " |||||||! IR ETIT
=] L q =] E
g E K g o

=TT : : ETf 3
- « |1+ + o H E
L +T1 I B H 0.95:—'
0.955 : : : 0.9t

107 1

o
N

1 1

2 3
TPl;g)T (PCA t:(L)obeamIin%P

Ratio

O O . e

iy
TTT T TTTT

-

M

3

1

2

5

>

i

0.95

H
S
L

1 i G 9beamiindf”



	Contents
	Page 1


